MAZ06 Suggested Problems
[Exponential Distribution

Let Ve the time between crashes in days of the corps of cadets sictwoilk server. The cumulative

distribution function of Xis as follows:
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a. Take the derivative of I7(x) to find the PDIE of .X; ensure that you completely specify the
PDF using the appropriate intervals,
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b. Sketeh the PDF and the CDF of X, Comment on the relationship between the PDF and
the CDFE, -
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¢. Calculate the average time between crashes.
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d. Compute the variance of the time between crashes.
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Using both the PDF and the CDF, find the probability that there are between 5 and 10

c.
days before the next crash. Mustrate your answers on the respective graphs.
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. Determine the median time between crashes.
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g, Find the 90" percentile of the random variable X
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h. Given that the cadet network has not crashed for the past 6 days, what is the probability
that the network will work for at least 3 more days before crashing?
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